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«a/))- & =h/6% {akc+ (a+b) * (c+d) +bxd}
< B¥E, FUBAEEAE=1/2% (c+d) *h
 ME R ERO=1/2% (a+b) *h

AR REEEO=1/2% (a+b) *h+1/2% (a+b) *hx (FHE-ZKG@L : 1.118)

c fAER R EFE@=1/2% (a+Db) *hk (BlEb-7ki@L : 1.118)




WAL

Kik/84 7 VP @ 65mm

TE T/ 2m' 5 &

300
avyo)y—=+
ogck=18N/mm2
0% 4 B AE 44

hi

500

h2

F15H=24.5/8.3/1.118=2.640
0.2 * 2.640+0.3=0.828
KIRENRATOFEHES (((2640-500)/2640 * (828-300)+300)+300)/2=514

£ g #i i B = HAL /B A
BEET
1 I BEGE sy == 1] NO. 0+11. 44~N0. 0+15. 94 m 4.5
p syl NO. 0+11. 94~N0. 0+15. 70 m 3.8 8.3
1.0m3¥%4 Y
a7 U—bk | ock=18N/mm® |1/2% (0. 30+0. 2H+0. 30)*H = 0. 1H* +0. 3H m
R—F A # t=5em  |h2x 1 +0.30% +0. 2H+0. 30=1. 044h2+0. 2H+0. 30 = m®
ST e —{RAEIFy Hka/ 1 +0.50% =1. 118H m’
AR P —fREIFy hix 1 +0.30% =1.044h1 m’
BT B AR Hea 1 +0.50° +Hy/ 1 +0. 30% =2. 162H Hhm?
1.0:U% v
a7 U—bk | ock=18N/mm® |BIFREEE LY m’ 13. 4
R—F A HE t=5em m’ 11.2
11. 2%0. 05 m 0.6
FTRI —HRAIR BREHE R LY m’ 24.5
HRI —HRAIR BREHEE LY m’ 16.2 40. 7
BT i%{%ﬂ%% B REE LY Hm” 42.6
:‘u—_:E ﬁEi—
H ikt = 10mn 1/2%(0. 39+1. 01) *3. 1*1. 020 m’ 2.2
1/2% (0. 30+0. 92) *3. 1*1. 020 m’ 1.9
1/2% (0. 68+1. 04) *1. 8 m’ 1.5
1/2% (0. 30+0. 66) *1. 8 m’ 0.9 6.5
KRERALT VP-65 10%0. 514 m 5.1
VP-65 (2.64-0.5)% 4/1 +0. 50 *8.3/2 AT 10
W HHBA 1R 7 300%300%30 AT 10
0. 3%0. 3%10 m’ 0.9




WAL

Kigs84 T VP 65mm

TE T/ 2m' 5 &

300
avyo)y—=+
ogck=18N/mm2
0% 4 B AE 44

hi

500

h2

F+JH=19.3/8.0/1.118=2.158
0.2 % 2.158+0.3=0.732

KIRZNRATDOEHEE (((2158-500)/2158 * (732-300)+300)+300)/2=466

£ g #i i B = HAL /B A
BEET
25 1A BEE 5= sy == 1] NO. 1+ 5. 36~NO. 1+ 9. 32 m 4.0
p syl NO. 1+ 5. 36~NO. 1+ 9. 32 m 4.0 8.0
1.0m3¥%4 Y
a7 U—bk | ock=18N/mm® |1/2% (0. 30+0. 2H+0. 30)*H = 0. 1H* +0. 3H m
R—F A # t=5em  |h2x 1 +0.30% +0. 2H+0. 30=1. 044h2+0. 2H+0. 30 = m®
F AP — TP H¥/ 1 +0.50% =1. 118H m’
HRI —fREIFy hix 1 +0.30% =1.044h1 m’
BT B AR Hea 1 +0.50° +Hy/ 1 +0. 30% =2. 162H Hhm?
1.0:U% v
a2 7 U— K ock=18N/mm” BIFLEEE LY m’ 9.5
=4 WS t=5cm m’ 10. 1
10. 1%0. 05 m 0.5
FTRI —HRAIR BREHE R LY m’ 19.3
HRI —HRAIR BREHEE LY m’ 12. 4 31.7
BT i%{%ﬂ%% I ) Hm” 32.6
:‘u—_:E ﬁEt
H A4 10m 1/2%(0. 30+0. 94) *3. 2%1. 020%2 m’ 4.0
1/2% (0. 30+0. 66) *1. 8%2 m’ 1.7 5.7
KIRERALT VP-65 7%0. 466 m 3.3
VP-65 (2. 158-0. 5) %/ 1 +0.50% *8.0/2 T 7
W HH B 1) 300%300%30 & AT 7
0. 3%0. 3%7 m’ 0.6




WAL

KiR/X4 7 VP ¢ 65mm
TEM/2m'EE

500
e
™

300
avyo)y—=+
ogck=18N/mm2
0% 4 B AE 44

hi

h2

tJH=23.4/9.6/1.118=2.180
0.2 % 2.180+0.3=0.736

KIRE/RATDOEHES (((2180-500)/2180 * (736-300)+300)+300)/2=468

£ g #i i B = HAL /B A
BEET
SEAEEE & sy == 1] NO. 2+13. 53~N0. 2+18. 29 m 4.8
p syl NO. 2+13. 53~N0. 2+18. 29 m 4.8 9.6
1.0m3¥%4 Y
a7 U—bk | ock=18N/mm® |1/2% (0. 30+0. 2H+0. 30)*H = 0. 1H* +0. 3H m
R—F A # t=5em  |h2x 1 +0.30% +0. 2H+0. 30=1. 044h2+0. 2H+0. 30 = m®
FA —{RAEIFy Hka/ 1 +0.50% =1. 118H m’
AR P —fREIFy hix 1 +0.30% =1.044h1 m’
BT B AR Hea 1 +0.50° +Hy/ 1 +0. 30% =2. 162H Hhm?
1.0:U% v
a7 U—bk | ock=18N/mm® |BIFREEE LY m’ 1.6
R—F A HE t=5em m’ 16. 6
16. 6%0. 05 m 0.8
FTRI —HRAIR BREHE R LY m’ 23. 4
HRI —HRAIR BREHEE LY m’ 9.9 33.3
BT i%{%ﬂ%% B REE LY Hm” 38. 4
TEHE A |
H ikt = 10mn 1/2% (0. 30+0. 82) *2. 6%1. 020 m’ 1.5
1/2%(0. 30+1. 02) *3. 6%1. 020 m’ 2.4
1/2% (0. 30+0. 66) *1. 8%2 m’ 1.7 5.6
KRERALT VP-65 9%0. 468 m 4.2
VP-65 (2.180-0.5) %/ 1 +0.50% %9, 6/2 T 9
W B 1) 300%300%30 =30 9
0. 3%0. 3%9 m’ 0.8




RNl (4

2y )—F b
A HERfE 0. 1H> +0. 3H 1. 044h2+0. 2H+0. 30 fii =
W i T o W i T o
72 AR
No. 0 + 11.44 0. 00 0.94 H=1.91m h2-0.00m
No. 0 + 11.94 0. 50 0.94 0. 940 0.47 H=1.91m h2=0.00m
No. 0 + 11.94 0. 00 2.49 1.715 0. 00 1. 04 H=3. 71m h2=0. 00m
No. 0 + 15.08 3.14 2.33 2.410 7.57 2.78 1.910 6.00 | H=3.55m h2-1.70n
No. 0 + 15.70 0. 62 0.16 1. 245 0.77 H=0. 45m h2=0. 00m
No. 0 + 15.94 0.24 0.16 0. 160 0. 04 H=0. 45m h2=0. 00m
/NEF 4. 50 8.85 6. 00
1 Al
No. + 11.94 0. 00 0. 86 0. 66 H=1. 80m h2=0. 00m
No. + 15.08 3.14 1. 68 1. 270 3.99 2. 65 1. 655 5.20 | H=2.86m h2-1.70n
No. + 15.70 0. 62 0. 00 0. 840 0. 52 H=0. 00m h2=0. 00m
/NEF 3.76 4.51 5. 20
& i 8.26 13. 36 11. 20




RNl (4

FA e HAIP
A e 1. 118H 1. 044h1 i A
W i T o W i T o
72 AR
No. 0 + 11.44 0. 00 2.14 1.99 H=1.91m hi-1.91n
No. 0 + 11.94 0. 50 2.14 2. 140 1.07 1.99 1. 990 1.00 | H=1.91m hi-1.9n
No. 0 + 11.94 0. 00 4.15 3.145 0. 00 3.87 2.930 0.00 | H=3.71m h1=3.7In
No. 0 + 15.08 3.14 3.97 4. 060 12.75 1.93 2.900 9.11 | H=3.55m hi-1.85n
No. 0 + 15.70 0. 62 0. 50 2.235 1.39 0.47 1. 200 0.74 | H=0.45m h1=0.45n
No. 0 + 15.94 0.24 0. 50 0. 500 0.12 0.47 0. 470 0.11 | H=0.45m h1=0.45n
/NEF 4. 50 15.33 10. 96
A5 A
No. + 11.94 0. 00 2.01 1.88 H=1. 80m hi=1.80m
No. + 15.08 3.14 3. 20 2.605 8.18 1.21 1. 545 4.85 | H=2.86m hi-1. 16m
No. + 15.70 0. 62 0. 00 1. 600 0. 99 0. 00 0. 605 0.38 | H=0.00m h1=0.00m
/NEF 3.76 9.17 5.23
& i 8.26 24. 50 16. 19




RNl (4

BT
il py PR 2. 1621 =
Wr i RS & Wr i RS pie
7
No. 0 + 11.94 0. 00 8. 02 H=3. 71m
No. 0 + 15.08 3. 14 7.68 7.850 24. 65 H=3. 55m
No. 0 + 15.70 0. 62 0.97 4.325 2.68 H=0. 45m
/NEF 3.76 27.33
A A
No. 0 + 12.03 0. 00 4.32 H=2. 00m
No. 0 + 15.08 2.55 6.18 5. 250 13.39 H=2. 86m
No. 0 + 15.70 0. 62 0. 00 3. 090 1.92 H=0. 00m
/R 3.17 15. 31
& i 6.93 42. 64




2 BRI

2y )—F b
woooA HERfE 0. 1H> +0. 3H 1. 044h2+0. 2H+0. 30 fii =
W i T o W i T o
72 AR
No. 1 +5.36 0. 00 0. 86 1.13 H=1. 80m h2=0. 45m
No. 1 + 8.68 3.32 1. 68 1. 270 4.22 1.92 1.525 5.06 | H=2.86m h2-1.00m
No. 1 +9.32 0. 64 0. 00 0. 840 0.54 H=0. 00m h2=0. 00m
/NEF 3.96 4,76 5. 06
A5 1R
No. 1 +5.36 0. 00 0. 86 1.13 H=1. 80m h2=0. 45m
No. 1 + 8.68 3.32 1. 68 1. 270 4.22 1.92 1.525 5.06 | H=2.86m h2-1.00n
No. 1 +9.32 0. 64 0. 00 0. 840 0.54 H=0. 00m h2=0. 00m
/NEF 3.96 4,76 5. 06
& i 7.92 9.52 10. 12




2 BRI

FA e HAIP
wmooR e 1. 118H 1. 044h1 i A
W i T o W i T o
72 AR
No. 1 +5.36 0. 00 2.01 1.41 H=1. 80m hi-1.35n
No. 1 + 8.68 3.32 3. 20 2.605 8. 65 1.94 1.675 5.56 | H=2.86m hi-1.86n
No. 1 +9.32 0. 64 0. 00 1. 600 1.02 0. 00 0. 970 0.62 | H=0.00m h1=0.00m
/NEF 3.96 9.67 6.18
A5 1R
No. 1 +5.36 0. 00 2.01 1.41 H=1. 80m hi-1.35n
No. 1 + 8.68 3.32 3. 20 2.605 8. 65 1.94 1.675 5.56 | H=2.86m hi-1.86n
No. 1 +9.32 0. 64 0. 00 1. 600 1.02 0. 00 0. 970 0.62 | H=0.00m h1=0.00m
/NEF 3.96 9.67 6.18
& i 7.92 19. 34 12. 36




2 BRI

BT
il py PR 2. 1621 =
Wr i RS & Wr i RS pie
7
No. 1 + 5.95 0. 00 4. 32 H=2. 00m
No. 1 + 8.68 2.73 6. 18 5. 250 14. 33 H=2. 86m
No. 1 + 9.32 0. 64 0. 00 3. 090 1. 98 H=0. 00m
NG 3.37 16. 31
A A
No. 1 + 5.95 0. 00 4. 32 H=2. 00m
No. 1 + 8.68 2.73 6. 18 5. 250 14. 33 H=2. 86m
No. 1 + 9.32 0. 64 0. 00 3. 090 1. 98 H=0. 00m
NG 3.37 16. 31
= i 6. 74 32. 62




3R

2y )—F b
woooA HERfE 0. 1H> +0. 3H 1. 044h2+0. 2H+0. 30 fii =
W i T o W i T o
72 AR
No. 2+ 13.53 0. 00 0. 86 0. 66 H=1. 80m h2=0. 00m
No. 2+ 17.57 4.04 1.38 1. 120 4.52 3.21 1.935 7.82 | H=2.51m h2=2.31n
No. 1+ 18.09 0. 52 0. 00 0. 690 0.36 H=0. 00m h2=0. 00m
/NEF 4. 56 4,88 7.82
A5 1R
No. 2+ 13.53 0. 00 0. 86 0. 66 H=1. 80m h2=0. 00m
No. 2+ 17.57 4.04 2.11 1. 485 6. 00 3.68 2.170 8.77 | H=3.33m h2-2.60n
No. 1+ 18.29 0.72 0. 00 1. 055 0.76 H=0. 00m h2=0. 00m
/NEF 4,76 6. 76 8.77
& i 9.32 11. 64 16. 59




3R

FA e HAIP
wmooR e 1. 118H 1. 044h1 i A
W i T o W i T o
72 AR
No. 2+ 13.53 0. 00 2.01 1.88 H=1. 80m hi-1.80m
No. 2+ 17.57 4.04 2.81 2.410 9.74 0.21 1. 045 4.22 | H=2.51m h1=0.20m
No. 1+ 18.09 0. 52 0. 00 1. 405 0.73 0. 00 0.105 0.05 | H=0.00m h1=0.00m
/NEF 4. 56 10. 47 4.27
A5 1R
No. 2+ 13.53 0. 00 2.01 1.88 H=1. 80m hi-1.80m
No. 2+ 17.57 4.04 3.72 2. 865 11.57 0.76 1. 320 5.33 | H=3.33m h1=0.73n
No. 1+ 18.29 0.72 0. 00 1. 860 1.34 0. 00 0. 380 0.27 | H=0.00m h1=0.00m
/NEF 4,76 12.91 5. 60
& i 9.32 23.38 9. 87




3R

BT
il py PR 2. 1621 =
Wr i RS & Wr i RS pie
7
No. 2+ 14.67 0. 00 4.32 H=2. 00m
No. 2+ 17.57 2.90 5.43 4.875 14. 14 H=2. 51m
No. 2+ 18.09 0.52 0. 00 2.715 1.41 H=0. 00m
/NEF 3.42 15.55
A A
No. 2+ 14.06 0. 00 4.32 H=2. 00m
No. 2+ 17.57 3.51 7.20 5. 760 20. 22 H=3. 33m
No. 2+ 18.29 0.72 0. 00 3. 600 2.59 H=0. 00m
/NEF 4.23 22. 81
& i 7.65 38. 36




MR EE e L
157K T
avy1)—+
I BEE = ock=18N/mm2 {HIE*:E S
1700~ 3000
A R )
- )
(o) ~
_[8
[fe)
e Mo qs
1200~ 2500 21~
4 R g51A i B = AR S =i
T
1EKNT NO. 0+11. 94~NO. 1+15. 08 m 3.1
104 b
227 U—h | ock=18N/mm® | (1/2%(1. 7+3. 0)%3. 24+1/2% (1. 242. 5)%3. 14)%1/2%0.5 m° 3.4
4 B t=bem | 1/2% (1. 2+2.5)%3. 14 m’ 5.8
5. 8%0. 05 m’ 0.3
JEHE H
H Hups - 10mm 1/2% (1. T+1. 2)%0. 5+1/2% (3. 0+2. 5) *0. 5%1. 020 m’ 2.1
1/2% (3. 24+3. 14) %0. 5%1. 118%2 m’ 3.6 5.7




MR EE e L
25 /KA T
avy1)—+
I BEE = ock=18N/mm2 {HIE*:E S
1700~ 3000
9 A R 3
@ <
(o) ~
_[8
[fe)
e Mo qs
1200~ 2500 21~
4 R g51A i B = AR S =i
T
2K T NO. 1+ 5.36~NO. 1+ 8. 68 m 3.3
104 b
227 U—hk | ock=18N/mm® | (1/2%(1. 7+3. 0)%3. 42+1/2% (1. 242. 5)%3. 32)%1/2%0.5  m° 3.5
4 B t=bem | 1/2% (1. 2+2. 5)%3. 32 m’ 6.1
6. 1%0. 05 m’ 0.3
JEHE H
H Hups - 10mm 1/2% (1. T+1. 2)%0. 5+1/2% (3. 0+2. 5) *0. 5%1. 020 m’ 2.1
1/2% (3. 42+3. 32) %0. 5%1. 118%2 m’ 3.8 5.9




MR EE e L
357K AN L
avy1)—+
I BEE = ock=18N/mm2 {HIE*:E S
1700~ 3000
9 A R 3
@ <
(/D ~
_[8
[fe)
e Mo qs
1200~ 2500 21~
4 R g51A i B = AR S =i
T
3E KN T. NO. 2+13. 53~NO0. 2+17. 57 m 4.0
104 b
227 U—h | ock=18N/mm® | (1/2%(1. T+3. 0) 4. 14+1/2% (1. 242. 5)%4. 04)%1/2%0.5  m° 4.3
4 B t=bem | 1/2% (1. 2+2. 5) %4, 04 m’ 7.5
7. 5%0. 05 m’ 0.4
JEHE H
H Hups - 10mm 1/2% (1. T+1. 2)%0. 5+1/2% (3. 0+2. 5) *0. 5%1. 020 m’ 2.1
1/2% (4. 14+4. 04) *0. 5%1. 118%2 m’ 4.6 6.7




MRt fAfE L
A AE
/7
EALAKER
HERRBROEMIBREREEERAT AN,
Hh CTEHRIRT 52 &,
4 R g51A i B = BN hEE &t
AL
AR Je AR NO. 0- 1.40~N0. 0+ 1.75 m 3.2
NO. 0+15. 94~N0. 1+ 0. 45 m 3.3
NO. 1+ 3.54~N0. 1+15. 91 m 14. 4
NO. 2+17. 29~N0. 2+18. 29 m 1.0
NO. 3+ 2. 00~NO. 3+15. 86 m 15.2
A AR NO. 0— 2. 30~N0. 0+15. 70 m 17.2
NO. 1+ 0. 90~NO. 1+14. 05 m 12.9
NO. 2 ~NO. 2+18. 29 m 18.3
NO. 2+19. 73~N0. 3+ 5. 55 m 4.8
NO. 3+ 7. 78~N0. 3+13. 52 m 7 96. 0
1.0m¥%4 "
oAy 620000 HxW 1+0.50° = 1.118H m’
Hi R B
1024 Y
A AE ¢ 2000 F BIREHREELX D m* | 101.3

HLHEER X




TR A FE

oA
wo R PERfE 1.118H i B
W I ¥ B Wir il ) &
Pasae il
No. 0 - 1.40 | 0.00 0.22 H=0. 20m
No. 0 - 0.80 | 0.60 0.77 0. 495 0.30 H=0. 69m
No. 0 - 0.80 | 0.00 0. 55 0. 660 0. 00 H=0. 49m
No. 0 - 0.40 | 0.40 0. 00 0.275 0.11 H=0. 00m
No. 0 0. 40 0.91 0. 455 0.18 H=0. 81m
No. 0 0. 00 1.12 1.015 0. 00 H=1. 00m
No. 0 + 1.45 ]| 1.45 1. 04 1. 080 1.57 H=0. 93m
No. 0 + 1.45| 0.00 0.82 0. 930 0. 00 H=0. 73m
No. 0 + 1.75| 0.30 0. 00 0. 410 0.12 H=0. 00m
/NG 3.15 2.28
No. 0 + 15.94 | 0.00 0.73 H=0. 65m
No. 1 + 0.45| 3.30 0.22 0. 475 1.57 H=0. 20m
/NG 3.30 1.57
No. 1 + 3.54 | 0.00 0.22 H=0. 20m
No. 1 + 3.84| 0.30 1. 40 0.810 0.24 H=1. 25m
No. 1 + 4.8 | 1.00 1.29 1.345 1.35 H=1. 15m
No. 1 + 4.86 | 0.00 1.01 1.150 0. 00 H=0. 90m
No. 1 + 5.36| 0.50 1.01 1.010 0.51 H=0. 90m
No. 1 + 5.36| 0.00 1.23 1.120 0. 00 H=1. 10m
No. 1 + 7.41 ] 2.05 0.22 0.725 1. 49 H=0. 20m
No. 1 + 7.81 | 0.40 1.23 0.725 0.29 H=1. 10m
No. 1 + 9.32| 1.70 1.23 1.230 2. 09 H=1. 10m
No. 1 + 9.32| 0.00 1.01 1.120 0. 00 H=0. 90m
No. 1 + 9.56 | 0.24 1.01 1.010 0.24 H=0. 90m
No. 1 + 9.56 | 0.00 1.23 1.120 0. 00 H=1. 10m
No. 1 + 15.91 | 8.25 0.22 0.725 5. 98 H=0. 20m
/NG 14. 44 12.19
No. 2 + 17.29 | 0.00 1. 49 H=1. 33m
No. 2 + 18.05| 0.76 1.34 1.415 1.08 H=1. 20m
No. 2 + 18.29 | 0.24 0. 00 0. 670 0.16 H=0. 00m
/NG 1. 00 1.24
No. 3 + 2.00| 0.00 0.22 H=0. 20m
No. 3 + 2,45 0.45 1.12 0. 670 0.30 H=1. 00m
No. 3 + 6.98| 5.80 1.45 1.285 7.45 H=1. 30m
No. 3 + 15.86 | 8.90 0.67 1. 060 9.43 H=0. 60m
/NG 15. 15 17.18




TR A FE

oA
wo R PERfE 1.118H i B
W I ¥ B ] ) &
4
No. 0 - 2.30| 0.00 0.22 H=0. 20m
No. 0 - 1.80 | 0.50 0. 86 0. 540 0.27 H=0. 77m
No. 0 - 1.80 | 0.00 0. 64 0. 750 0. 00 H=0. 57m
No. 0 - 1.15] 0.65 0. 00 0. 320 0.21 H=0. 00m
No. 0 - 0.50 | 0.65 1.48 0. 740 0.48 H=1. 32m
No. 0 - 0.50 | 0.00 1.70 1. 590 0. 00 H=1. 52m
No. 0 0. 50 1.70 1. 700 0.85 H=1. 52m
No. 0 + 9.94] 9.15 1.15 1. 425 13. 04 H=1. 03m
No. 0 + 10.24 | 0.30 1.14 1.145 0.34 H=1. 02m
No. 0 + 10.59 | 0.35 1.93 1.535 0. 54 H=1. 73m
No. 0 + 11.44 | 0.85 1.86 1.895 1.61 H=1. 66m
No. 0 + 11.94 | 0.50 1.86 1. 860 0.93 H=1. 66m
No. 0 + 15.70 | 3.75 0.22 1. 040 3.90 H=0. 20m
/NG 17. 20 22.17
No. 1 + 0.90 | 0.00 2.01 H=1. 80m
No. 1 + 3.41 | 3.30 1.73 1.870 6. 17 H=1. 55m
No. 1 + 4.8 | 1.60 1.57 1. 650 2. 64 H=1. 40m
No. 1 + 4.86 | 0.00 1.51 1. 540 0. 00 H=1. 35m
No. 1 + 5.36| 0.50 1.51 1.510 0.76 H=1. 35m
No. 1 + 17.56 | 2.20 0.45 0. 980 2.16 H=0. 40m
No. 1 + 811 ] 0.55 1. 40 0.925 0.51 H=1. 25m
No. 1 + 9.32] 1.25 0.78 1. 090 1.36 H=0. 70m
No. 1 + 9.56 | 0.24 0.78 0. 780 0.19 H=0. 70m
No. 1 + 14.05]| 3.25 0.38 0. 580 1.89 H=0. 34m
/NG 12. 89 15. 68
No. 2 0. 00 0.22 H=0. 20m
No. 2 + 0.60 | 0.60 1. 54 0. 880 0.53 H=1. 38m
No. 2 + 4.62 | 4.90 1.17 1.355 6. 64 H=1. 05m
No. 2 + 4.92| 0.30 1.90 1.535 0. 46 H=1. 70m
No. 2 + 6.22| 1.50 1.76 1.830 2.75 H=1. 57m
No. 2 + 11.98 | 4.70 1.22 1. 490 7. 00 H=1. 09m
No. 2 + 13.03 | 1.05 1.12 1.170 1.23 H=1. 00m
No. 2 + 13.53 | 0.50 1.12 1.120 0. 56 H=1. 00m
No. 2 + 14.58 | 1.05 0.67 0. 895 0.94 H=0. 60m
No. 2 + 15.08 | 0.50 1.57 1.120 0. 56 H=1. 40m
No. 2 + 18.29 | 3.20 0.22 0. 895 2. 86 H=0. 20m
/NG 18. 30 23.53
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4
No. 2 + 19.73 | 0.00 0. 22 H=0. 20m
No. + 1.00 | 1.30 0. 96 0. 590 0. 77 H=0. 86m
No. 3 + 5.55| 3.50 0. 22 0. 590 2. 07 H=0. 20m
/NG 4. 80 2. 84
No. 3 + 7.78 | 0.00 0. 22 H=0. 20m
No. 3 + 7.93] 0.15 0. 50 0. 360 0. 05 H=0. 45m
No. 3 + 9.68| 1.75 0. 22 0. 360 0. 63 H=0. 20m
No. 3 + 9.93| 0.25 0.79 0. 505 0.13 H=0. 71m
No. 3 + 13.52 | 3.55 0. 22 0. 505 1.79 H=0. 20m
/NG 5. 70 2. 60
& g 95. 93 101. 28




SR E £ T
SEAEaY) -}
%A B 0
avyy—Fk /7
ock=18N/mm2 .
ESLAER S
fEEEE =
B'=B-20
4 il Hi ¥ 5 2N HAL /hEE B
i L
egay ) -t 77 AR NO. 0 ~NO. 0+ 1.45 m 1.5
NO. 0+15. 94~NO. 1+ 0. 45 m 3.5
NO. 1+ 3.54~N0. 1+15.91 1.3+4.0+7. 4 m 12.7
NO. 2+17. 29~N0. 2+18. 05 m 0.8
NO. 3+ 2. 00~NO. 3+15. 86 m 14. 6
R NO. 0— 0.50~N0. 0+15.70 11.6+3.8 m 15. 4
NO. 1+ 0.90~NO. 1+14. 05 4. 6+4. 0+3. 1 m 11.7
NO. 2 ~N0. 2+18.29 13.1+4.8 m 17.9
NO. 2+19. 73~N0. 3+ 5. 55 m 5.1
NO. 3+ 7. 78~N0. 3+13. 52 m 5.8 89.0
. 1.Om¥ ¥
Tigayy)-p RSV g n’
FEMEE RC-40 t=10cm B-0.02 m’
_ 10X Y
Faga)-h NI i kv i 67.9
HEEEFe RC-40 t=10cm RKLEHE#E LY m* 66. 1




SegEay )l —h

SR ) =b SEEea
il R B B B-20 ] E:
] N3] Egy ] N3] Egy

ey ]
No. 0 0. 00 0. 60 0. 58 B=0. 60m
No. 0o + 1.45 1.50 0. 60 0. 600 0.90 0. 58 0. 580 0. 87 B=0. 60m
No. 0 + 15.9%4 0. 00 1.00 0.98 B=1. 00m
No. 1 + 0.45 3.50 0. 60 0. 800 2.80 0. 58 0. 780 2.73 B=0. 60m
No. 1 + 3.54 0. 00 0.90 0. 88 B=0. 90m
No. 1 + 4.86 1. 30 0.90 0. 900 1.17 0. 88 0. 880 1. 14 B=0. 90m
No. 1 + 5.36 0. 00 0.90 0. 88 B=0. 90m
No. 1 + 9.32 4. 00 0.94 0. 920 3. 68 0.92 0. 900 3. 60 B=0. 94m
No. 1 + 9.56 0. 00 2.29 2.27 B=2. 29m
No. 1 + 15.91 7.40 0. 60 1. 445 10. 69 0. 58 1. 425 10. 55 B=0. 60m
No. 2 + 17.29 0. 00 0.70 0. 68 B=0. 70m
No. 2 + 18.05 0. 80 0. 60 0. 650 0.52 0. 58 0.630 0. 50 B=0. 60m
No. 3 + 2.00 0. 00 0. 60 0. 58 B=0. 60m

No. 3 + 15.86 | 14.55 0.60 0. 600 8.73 0.58 0. 580 8.44 B=0. 60m




SegEay )l —h

SEgRav ) - S
il R B B B-20 ] E:
G| Sy S K7 R&) HE
AR
No. 0 - 0.50 | 0.00 0.60 0.58 B=0. 60m
No. + 10.59 | 10.70 0.60 0. 600 6. 42 0.58 0. 580 6. 21 B=0. 60m
No. 0 + 11.44 | 0.85 0.70 0. 650 0.55 0.68 0. 630 0.54 B=0. 70m
/NEt 11.55 6.97 6.75
No. + 11.95 | 0.00 0.60 0.58 B=0. 60m
No. + 15.70 | 3.75 0.60 0. 600 2.25 0.58 0. 580 2.18 B=0. 60m
No. 1 + 0.90 | 0.00 0.60 0.58 B=0. 60m
No. 1 + 3.41 | 3.10 0.60 0. 600 1.86 0.58 0. 580 1.80 B=0. 60m
No. 1 + 4.8 | 1.50 1.30 0. 950 1.43 1.28 0. 930 1.40 B=1. 30m
/NEt 4. 60 3.29 3.20
No. 1 + 5.36 | 0.00 1.30 1.28 B=1. 30m
No. 1 + 9.32| 3.96 0.94 1. 120 4,44 0.92 1. 100 4,36 B=0. 94m
No. 1 + 9.56 | 0.00 2.30 2.28 B=2. 30m
No. 1 + 14.05 | 3.10 0.60 1. 450 4,50 0.58 1. 430 4. 43 B=0. 60m
No. 2 0. 00 0.60 0.58 B=0. 60m
No. 2 + 11.98 | 12.00 0.60 0. 600 7.20 0.58 0. 580 6. 96 B=0. 60m
No. 2 + 13.03 | 1.05 0.70 0. 650 0.68 0.68 0. 630 0. 66 B=0. 70m
/NEt 13.05 7.88 7.62
No. 2 + 13.53 | 0.00 0.70 0.68 B=0. 70m
No. 2 + 18.29 | 4.76 0.70 0. 700 3.33 0.68 0. 680 3. 24 B=0. 70m
No. 2 + 19.73 | 0.00 0.95 0.93 B=0. 95m
No. 3 + 1.00 | 1.30 0.60 0.775 1.01 0.58 0. 755 0.98 B=0. 60m
No. 3 + 555 3.80 0.60 0. 600 2.28 0.58 0. 580 2.20 B=0. 60m
/NEt 5.10 3.29 3.18
No. 3 + 7.78 | 0.00 0.60 0.58 B=0. 60m
No. 3 + 13.52 | 5.75 0.60 0. 600 3.45 0.58 0. 580 3.34 B=0. 60m
= 7 88. 67 67.89 66. 13
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4 il Hi ¥ B 2N A =
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THHER m 70. 3
1.o% b
fiE ) R TR EELY m | 91.9
(Rt HRGEIEELY m . 19.8
BB L BN m’ 91.9
FLFHY =300 3. 0%0. 3%24. 0 m’ 21.6
FHHEREL m’ 21.6
EARY— b s 3. 6%24. 0 m* 86. 4
AT — MitE m* 86. 4
T bl t=10cm 3. 0%70. 3 1 210.9
et 210. 9%0. 10 ’ 21. 1
AR E ¢ 20004 1. 2%1. 044% (3. 0+10. 0+6. 0+13. 0+6. 0+9. 0) m* 58.9
FREEIH A o 20000 AR & RSE m* 58.9
R T =X 1.0
.04 b
B ) IFL ¢ 800 95. 0+6. 5 m  101.5
K)oy B m 101.5
B B0 1
.04 b
KL 5 44+2+2 £ 8.0
KA+ 2 ik = 8.0




ez T

. fEH (ERD) IR R%
il AR P - - -
Wrom | B &K om | F B &((B om|F B K &
BP 0. 00 0.0 0.0
No. 0+ 9.94 12.79 0.0 0. 00 0.0] 0.0 0. 00 0.0
10. 20 0.0 0. 00 0.0] 0.0 0. 00 0.0
No. 1+ 2.20 3.70 0.0 0. 00 0.0 5.4 2.70]  10.0
1. 40 0.0 0. 00 0.0 5.4 5. 40 7.6
0. 00 0.0 0. 00 0.0] 0.0 2.70 0.0
BC. 3 9. 60 5.4 2.70  25.9] 0.0 0. 00 0.0
No. 2+ 6.22 15. 25 1.9 3.65| 55.7 0.1 0.05 0.8
No. 2+ 19.73 10. 80 0.0 0.95| 10.3] 0.1 0.10 1.1
EP 6.55 0.0 0. 00 0.0] 0.0 0.05 0.3
= i 70. 29 91.9 19.8




